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Review a line, I s a a function

I n 2 D

y = Mix-Xo) t yo

1%1%1 starting po i n t M =
%¥ slope
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Idea: Po n t p = (Xo, Yo, Zo )

direction of travel I = L a , b, c >

The (vector form) o f t h e line starts @

P i n direction i t i s

rich = Otp + t o 0 OH

D = Origin



Ey stmt's point: ( 1 , 2 )

Initial direction 4 3 , 4 )
µ-----
¥-2⇐ I 08+5 8D = ( 1 1 2 7
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0=43,45

t i s a "slider"

representing "time".
Rft)-41,2) + t 43147.

=LH3t , 2 4 4 T ) .



E I find Eqn of a line f rom

17=(2%4) t o 0=1.519.51.

two Ingredients: I n i t i a l : D = (2,314)

direc
tion:

PT-43,6, 1 7

F IEF OF t t f = (2,34> + £23,617

= (2+343+644 + t )



in
parametric Equations.

h t t {Htt
= 2 + 3 t

y a = 3+6t ← parametric form of
Z I E K 4 t t t h e line.

E x P = l ¥ ) Q = t 2 2 )
9

L i s the line from P t o Q .

① find the parametric form of LIE).



POT = ( -3 , - n , -12

LIE) = OF t E pot

= 4112,-1) t EL-3 , - I , -17
9

= {Htt
I - 3 T

4 I t s = 2 - t

2-Lt ) = - l - t .



② : k be the line lol parametro form

kiss-{last
1 h 4 5

Y a - l - 3 5

Else) = 3 -1 25 .

Find direction vector of K

J= (4 i3#



Plauesm3µ
A plate i s t he se t of all points is

perpendicular t.eawfo.in?nmf::!:!?n
"g Po = (Xo,Yo,Zo) n'= L a , b, c >¥) " " " " " "

p= ( X i i )
alx-xdtbby-ydtctt-zd.to

a . pop, = o ,

§.,,
,,,,, a poo,

o n plane



2 1 Scalar form pt 2 :

ax tby tcz = D
21*01+41421+1124,
4

Isaboaplai
n

§ µ%µZo

£ 1 0 find a plane cont . the point po= 10,445

WI n '=
42%4,' is

② Q : i s t h e point I 2,92) o n t h i s plane?

212-0) t - t lo-2) t 112-4) I 0
4 + 2 - 2 = 4 t o



n.IE?..?.?mp.isnoronansa#,Pz
a r e parallel i f

their normal vectors a r e parallel.

n ÷ : ÷ ÷ =
> Pll

normal vectors

find
a

place ppl/to the place above goes through t o

Pont 131014)




